Division Word Problems Worksheets

1. The post office had an equal number of each of 5 types of stamps.
There was a total of 1,785 stamps. How many of each type of stamp did
the post office have?

2. A truck has 3 crates of apples. Each crate has an equal number of apples.
Altogether, the truck is carrying 1,728 apples. How many apples are in 2
crates?
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Division Word Problems Worksheets

1. The post office had an equal number of each of 5 types of stamps.
There was a total of 1,785 stamps. How many of each type of stamp did
the post office have?

1785 + 5 =357 stamps

2. A truck has 3 crates of apples. Each crate has an equal number of apples.
Altogether, the truck is carrying 1,728 apples. How many apples are in 2
crates?

1728 +3 =576

576 x 2 =1152 apples
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